Name:______________________________ Date:_____________ 
Practice – Pythagorean Theorem

· Find the missing side of a right triangle 
· Using the Pythagorean Theorem to find perimeter and area. 

Find the missing measure of each right triangle. Round to the nearest tenth if necessary.
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Determine whether triangle with the given sides is a right triangle.
9.  34, 44, 48



10.  24, 10, 26



11.  0.36, 0.48, 0.60

Find the perimeter of the right triangle given its area and length of one leg.
12.  a = 12 m





13.  a = 5.6 ft

      Area = 60 m2



    
 
     Area = 33.6 ft2


	14.  What is the length of a diagonal of a rectangular picture whose sides are 12 inches by 17 inches? Round to nearest tenth. 
	15.  Ross wants to the area of his vegetable garden to know how many seeds to buy. He measures one side of the garden as 24 feet and the diagonal as 25 feet. What is the area of Ross’ garden? 


	16.  Troy drove 8 miles due east and then 5 miles due north. How far is Troy from his starting point? Round to nearest tenth.
	17.  What is the perimeter of a right triangle if the hypotenuse is 15 centimeters and one of the legs is 9 centimeters?



	18.  A 20-foot ladder leaning against a wall is used to reach a window that is 17 feet above the ground. How far from the wall is the bottom of the ladder? Round to nearest tenth.
	19.  Tina measures the distances between three cities on a map. The distances between the three cities are 45 miles, 56 miles, and 72 miles. Do the positions of the three cities form a right triangle?


	20.  What is the area of a triangle if the hypotenuse is 13 meters and one of the legs is 5 meters? 
	21.  A ladder 17 feet long is leaning against a wall. The bottom of the ladder is 8 feet from the base of the wall. How far up the wall is the top of the ladder?



	22.  A wire 30 feet long is stretched from the top of a flagpole to the ground at a point 15 feet from the base of the pole. How high is the flagpole? Round to nearest tenth.


	23.  George wants to put a fence around half of his rectangular flower garden. He is will cut the garden in half diagonally. If one side of the garden is 10 feet and the diagonal is 18 feet, about how much fencing will George need. 


ANSWERS:

1. 18.7 m

2. 7.1 in

3. 8.4 ft

4. 32.8 cm

5. 37.9 in

6. 1.3 yd

7. 9.5 m

8. 15.5 mm

9. No

10. Yes

11. Yes

12. 37.6 m

13. 30.8ft

14. 20.8 in

15. 168 square feet
16. 9.4 miles

17. 36 cm

18. 10.5 ft

19. No

20. 30 square meters 
21. 15 ft

22. 26 ft

23. 43 feet
